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For any colour, Yy=100, P60
M,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

0525

-0,8 0,0 0,8

1,6 agxly

20Tv)=s,

525Mm|-m575 600

MA=S)
-0,8 e
Al -1,6
9495¢,E
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8
CIE 1931 X s
5 i [max (m)\chromatic value?],
0,0 0,2 0,4 0,6 0,8 1,0 £ chromaticity diagram (ag, bg)
BE120-1A_1 BE120-2A_1
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
s2sMmlms7s e0g. 625 700 M ter: Y
0\9 - 495¢,E Parame: 2L V)\=S) 528m Lmszs 600 Py 625
ter: Y 50 700

MyE 500c,E M\=S)49

-0,8 -0,8
510c,E
525¢,E =
-16 2
o
=)

> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P60 & For any colour, Yy=100, P60
i [max (m) chromatic value?], S | [max (m) chromatic value?],

S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE120-3A_1 BE120-4A_1
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
700
0.0 M L 600PL 8528105, 0
’ 525VIM 5006.E Parame: g Parame:
V{=S; ! ter: Y M= ter: Y
M 510¢,E
—O.é SERE(E -0,8
4
= 550¢,E =
=] (=2}
&8 b 3
=) =)

£ £

N &
5 g
Q4 For any colour, Yyy=100, P60 H For an colour, Yy,=100, P60
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE120-5A_1 BE120-6A_1
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
Parame:
o, 625 10 625 700  ter: Y
00 500c,E Parame ' 53; E
V, ' ter: Y '

M 510¢,E 510c,E
_o,é 525¢,E 525¢,E
= 550¢,E
=]

8 4
(=)
£
N
5
le For any colour, Y\4=100, P60 For any colour, Yy =108, P60
s [max (fn) chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE120-7A_1

BE120-8A_1

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;)

oS 520 525 Munsell System Y,,=100 Xw=97,06,Y,,=99,99,2,,=104,57 B0
08 TF M[ﬂp:z, V=1,2,5,8&9, P60 xy=0,3218y,,=0,3315 T10
510 rgstohe chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y] 1
by = byo [2/4]
=1, byp=-04
Ao
n = P60 -10 10
Q625 0
b 70
9395¢,E 1
CIE 1931 X Munsell System Yy,=100
i C=2,V=1,2,5,8&9, P60 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BE121-1A 1 BEL21-2A_1
X,=97,06,Y,,=99,99.2,=10457 B, X,=97.06,Y,=99,99.2,=10457 B,
Xw=0,3218y,,=0,3315 ES *w=0,3218y,,=0,3315 1t
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yls)]';?’
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ag =y [(x-0,1791y] 4L A =ayo [(x-0,171)/y] dL
by = by [2/4] b=z [(Mp1x+bpy)/y]
a50=1, byg= ~0,4 a50= 1, byg= ~0,4
mr1=1,000,b5,=0,171 A 'ﬁl Mp1=-0,169,0p1=0,389 @ A,
n = P60 _1'0 ) fo n = P60 -10 j 10
P60 P60
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P60 T-10 C=2,Vv=1,2,5,8&9, P60 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE121-3A 1 BEL21-4A_1
X,=97,06,Y,,=99,99.2,=10457 B, X,=97.06,Y,=99,99.2,=10457 B,
Xw=0,3218y,,=0,3315 10 *w=0,3218y,,=0,3315 1t
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Ym)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag=ay [(x-0,171/y] 4L 2y =ap[(x-0,179H] +
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a50= 1, byo= -0,4 ay0=1, byg=-0,4 A
Mp1=-0,974 by;=0,658 ) y e mp1=-0,169bp;=0,389 ) R
n = P60 —10 ' 10 n = P60 -10 ' @ 10
P60 P60
Munsell System Y,,=100 Munsell System Y,,,=100
C=2,V=1,2,5,8&9, P60 T-10 C=2,Vv=1,2,5,8&9, P60 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE121-5A 1 BEL21-6A_1
X,=97,06,Y,,=99,99.2,=10457 B, X,=97,06,Y,=99,99.2,=10457 B,
Xw=0,3218y,,=0,3315 110 %w=0,3218y,,=0,3315 0
As=(a5~asp) Y18 (Y/Ym)ig Ag = (g ~agn) Y15 (Y/ Ym)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 = apo [(x=0,17D/y] + 85 = ago [X/y] T
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
Mp1=-0,974 by;=0,658 ) y 5 Mp1=-0,974,b 58 6
n = P60 _10 ) 10 n = P60 10 10
P60 60
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P60 T-10 C=2,Vv=1,2,5,8&9, P60 T-10
chroma (A*s, B*g) chroma (A*g, B*¢)
BE121-7A 1 BEL21-8A_1

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, P55
M,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

0525

20Tv)=s,

-08 00 0,8 1,6 agxly

525Mm|-m575 600

MA=S)
-0,8 49
AP -1,6
9495¢,E
>
8
CIE 1931 X s
0 i [max (m)\chromatic value?],
0,0 0,2 0,4 0,6 0,8 1,0 £ chromaticity diagram (ag, bg)
BE120-1A_2 BE120-2A_2
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
s2sMmlms7s e0g. 625 700 M ter: Y
091_ 495¢,E Parame 0.0Tvy=5, 52 M Lmszs o P| 62
ter: Y 50 S5 700
M= 5000,E MA=S)40
-0,8 -0,8
510c,E
525¢,E =
-16 2
o
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P55 & For any colour, Yy=100, P55
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE120-3A_2 BE120-4A_2
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P] 495¢,E —
o s2Mm =TS —— Parame: o —stzgmemWS 600 Parame:
V=S, © ter: Y M)=[5)60 o2 L ter: Y
M P55 St 49 P55 Re Tsooce
—O,é SERE(E -0,8 510c,E
525¢ E
4
% 550¢,E % 50,6
0 ®  gars
© 4 (32}
=) S Bém TS
£ £
: g
o TS -
? & For any colour, Yyy=100, P55 <|=a7 For anly colour, Yy=100, P55
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE120-5A_2 BE120-6A_2
-0,8 0,0 08 1,6 as=(x-0,171) -08 00 08 1,6 agxly
o0 o Parame:
625 625 1§ ter: Y
0,0 75 £0B P R495¢,E
V. 500¢,E te?-ri(me 500c,E
510c,E 510c,E
P55 : !
_'g|§ 525¢,E 525¢,E
= 550¢,E
=]
8 4
(=)
¥
5 s
le For any colour, Y\y=100, P55 For any colour, Yw=108, P55
s [max (fn) chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE120-7A_2

BE120-8A_2

515 o 525

520 Munsell System Y,=100
M,.C=2,V=1,2,58&9, P55
mig the chromaticity diagram (x, y)

X,~=97,45,Y,,=100,002,,=95,98 B,
xw=0,3321y,,=0,3407 +10
Ao = (8o~ ag,r) Y1g (YY1 13
Bo = (oo~ bo,0) Y1s (Y/Y191/3

50
AV,
a9 = ago [x/y] 1
by = byo [2/4]
=1, byp=-04
L n AN N
} t t »
n = P55 -10 10
625 5
5700
97950,E 1
CIE 1931 X Munsell System Yy,=100
i C=2,V=1,2,5,8&9, P55 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BEI21-1A 2 BE121-2A_2
Xu=9745,Y,~100,002,795,98 B, Xw=9745,Y,,=100,002,~9598 B,
*y=0,3321y,,=0,3407 20 X=0,3321y,,=0,3407 110
A1= (a1 Yig (Y/Yla)ig Ay = (@2 =ag ) Yig (Y/ Yls)ig
By = (by —by,p) Yig (Y/Y1g) By = (b2 —y,p) Y15 (Y/Y19)
ag =y [(x-0,1791y] 4L A =ayo [(x-0,171)/y] dL
by = by [2/4] b=z [(Mp1x+bpy)/y]
ap0=1, byy= 0,4 a0= 1, by = 0,4
mr;=1,000, A A

n=P55

Munsell System Y,,=100

Mpy=-0,169,0p;=0,389 2
10 n=P55 -10 10
55

Munsell System Y,,=100

C=2,Vv=1,2,5,8&9, P55 T-10 C=2,Vv=1,2,5,8&9, P55 T-10
chroma (A*,, B*;) chroma (A*,, B*))

BE121-3A_2 BE121-4A_2
X,=97,45Y,=100,00Z,79598 B, Xy=97,45,Y,=100,00,95,98 B,
xw=0,3321y,,=0,3407 110 Xw=0,3321y,,=0,3407 T10

A3=(ag-agy) Yig (Y/Yla)lj?'
B3 = (b3~ bg) Y (Y/Y19)1/3

a3 = a0 [(x-0,17D/y]
b3=hs0 [(Mp1x+bp1)/y]
ay0= 1, byg=-0,4
n‘ID1=—0,974,bn1=0,ﬁl58

Ay = (8g ~ ag) Yag (YY1 3
B4 = (bs — by, Y1 (VY1913
+ 2y =ap[(x-0,179H] 1
b=z [(Mp1x+bpy)/y]
ay=1, byp=-04
Mp;=-0,169,0p,=0,39

n= P55 ~10

Munsell System Y,,=100

n = P55 “10

Munsell System Y,,,=100

C=2,Vv=1,2,5,8&9, P55 T-10 C=2,Vv=1,2,5,8&9, P55 T-10
chroma (A*3, B*3) chroma (A*y, B*,)

BE121-5A_2 BE121-6A_2
X,=97,45Y,,=100,007,795,98 B, Xw=97,45,Y,=100,00Z,=95,98 B,
xw=0,3321y,,=0,3407 110 Xw=0,3321y,,=0,3407 T10

A5 = (85— as,) Y15 (Y/Y191/3
Bs = (bs ~ bs, ) Y1 (Y/Y191/3

a5 = apo [(x=0,17D/y]
bs=hs0 [(Mp1x+bp1)/y]

ay=1, byp=-04

Ag = (85 ~ ag,r) Y15 (YY1 13
Be = (5 ~ bg ) Yag (V/Y191/3
4 ag = ago [X/Y] 4k
b=z [(Mpx+bp1)/y]
ay=1, byp=-0,4 A

mpy=-0,974 b5,=0,658
n = P55 _10

Munsell System Y,,=100

C=2,Vv=1,2,5,8&9, P55

chroma (A*s, B*g)

Mp;=-0,974,by 58 6
n=P55 10 10
55

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P55 T-10
chroma (A*g, B*¢)

T-10

BE121-7A_2

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;)

BE121-8A 2

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, P50 _ =X/ 520 Munsell System Y,=100 Xy=98,12,Y,,=100,002,=86,50 B,
° sst [max (m) chromatic value?], B up v 16 %=y Parame 5152 SZSMmc=2, V=1,2,5,8&9, P50 xx=0,3447y\:/v=o,3513 W 10
o % c5r15roomat|<:|ty diagram (x, y) 525Mm|-m575 500 525 700 ter: Y |rgst0he chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
21 ) b 0.0Tv,=s, Vm Bo = (bg ~ bo,n) Y15 (Y/Y19)
> 50 L a9 = ago [x/y]
3.0 My=S) bo =50 (2]
o3 -0,8 9 ay0=1, byp=-0,4 A,
QD =. 2 ' \ \ \ y
- ;75 : n = P50 —10 ' ' 10
=" s 5 &L q 0
=ial 7z
C, C,|
So . o
] \ o2 525¢,E
g %— CIE 1931 X g— / 5 ! : CIE 1931 X Munsell System Y, =100
- = i [max (m) §hromatic value?], 50 C=2,V=1,2,5,8&9, P50 -10
aﬁ 0,6 0,8 1.0 £ chromaticity diagram (ag, bo) 0,0 0.2 04 0,6 08 1.0 chroma (A*g, B*g)
S [y BE120-1A_3 BE120-2A_3 BE121-1A_3 BE121-2A_3
~~ — — — — — —
5= 08 00 08 16 a=(x-0171)y 08 00 08 16 axly X,=98,12,Y,,=100,00Z,786,50 B, X=98,12,Y,,=100,007,786,50 B,
S Q EErEE Xw=0,3447y,,=0,3513 s 10 Xy=0,3447y,~0,3513 s 110
T o s2sMmlms7s 600, 625 700 M ter: Y Ar=@ a0 Yig (Y/Yla)l B A= (-3 Yig (Y/Yls)l e
=® =5 i Ro Pio5cE Parame 00Ty =5, 52MMLmsis Bil ca By = (by —by,p) Yig (Y/Y1g) By = (b2 —y,p) Y15 (Y/Y19)
= 5 ter: Y = 850 700 a; = ay0 [(x=0,17D/y] ap = a0 [(x=0,171)/y] 1
Q. My=S), PS50 s AT SN0 by =byo [2] by=bzo [(Mp1X+bp1)/y]
o Cc ~0.8 4 -08 0= 1, byp=-0,4 ay0=1, byp=-04
D CIT 510c.E M1 =1,000,b1;=0,171 : : '?1 mp1=—0,169,bp,=0,389 A
= (_-R e = n = P50 -10 - 10 n = P50 -10 . 10
- = -1,6 : 3
c = 28
-} (=) dL
e 2 Lo/ snl|Ts &
550c,E =l
—_— Q Z,'— For an colgur, Yw=100, P50 & For any colour, Yy=100, P50 Munsell System Y,,=100 Munsell System Y,,=100
5' m ,', [max (m) chromatic value?], S | [max (m) chromatic value?], C=2,V=1,2,5,8&9, P50 -10 C=2,V=1,2,5,8&9, P50 T-10
T S chromdticity diagram (ay, by) &' | chromaticity diagram (ay, by) chroma (A*;, B*)) chroma (A*,, B*;)
m
% [y BE120-3A_3 BE120-4A_3 BE121-3A_3 BE121-4A_3
\S} 08 00 08 16 a=(x-0171) 08 00 08 16 %=(x-0171) Xw=98.12,Y,~100,002,86,50 B, Xy=98,12.Y,=100,002,~86,50 B,
2 @ Xw=0,3447y,,=0,3513 10 Xw=0,3447y,~0,3513 +10
o> m L 600PL S22 05 M As= (@3~ 2g) Yig (Y/Yla)ig Ay= (g~ ayp) Yig (Y/Ym)i; :
== o s2Mm 'MFSOOC'E Parame 0 =Sp2smlmsrs o5 Parame B3 = (b3 — b3 ) Y15 (Y/Y1g) By = (04— by,) Y15 (Y/Y19)
8 N V=S, ' ter: Y M)=5)%0 B ter: Y ag = ag [(x-0,179/y] ay = ayo [(x-0,17DH] 1
< I M§ pso :zlscg & P50 Re LsoocE bg=bzo [(Mp1x+bp1)/Y] b;=bzo [(Mp1X+bp1)/y]
~ -0, C, -0,8 510c,E ay=1, byp=-04 ay=1, byp=-04
B — A 525¢E Mp3=-0,974,0,=0,658 As mMp1=-0,169,b5,=0,389 A
= Z = 550¢,E = 5500.E n = P50 10 n = P50 -10 Z; :?PSO 10
= g1 & 1 Bom | |Ts
o S -
8 & & For any colour, Yy=100, P50 <|=a7 For anyy colour, Yy=100, P50 Munsell System Y,,=100 Munsell System Y,,,=100
- s [max () chromatic value?], e [max (fm) chromatic value?], C=2,V=1,2,5,8&9, P50 C=2,V=1,2,5,8&9, P50 T-10
a £ chromgticity diagram (ag, ba) o chromaticity diagram (ay, by) chroma (A*3, B*3) chroma (A*,4, B*)
BE120-5A_3 BE120-6A_3 BE121-5A_3 BE121-6A_3
= = S ¥ .
_Ih 08 00 08 16 8=(x-0171)y 08 00 08 16 2=y X4=98,12,Y,,=100,00Z,786,50 B, X=98,12,Y,,=100,007,786,50 B,
) EeEE Xw=0,3447y,,=0,3513 s 10 Xw=0,3447y,~0,3513 s 110
o soppy_625 %° 625 10 s der Y As=(a5~asp) Y18 (Y/Y1a)1/3 As=(@s~agn) Y18 (Y/Ym)lls
3 iy M R e Parame : oE Bo = (o5 bs) Ya (V19 Bo = (O ~ bg) Yis (YMig
' ter: Y ) a5 = apo [(x=0,17D/y] ag = ao [x/y] 4L
@ M P50 SLEl SIEis bs=by [(Mp1x+bp1)/y] be=b0 [(Mp1x+bp )iyl
=, 08 525¢,E 525¢.E a,0=1, by=-0,4 A a,0= 1, byp=-0,4 A,
=~ Mp;=-0,974,b,=0,658 Mp1=-0,974,bp;=0,658
= 550¢,E n = P50 10 n=P50 -10 ko 10
=]
n
© 4
(=) 4
<
N B
5 s ~X 475
& For any colour, Y\4=100, P50 For any colour, Yy=108, P50 Munsell System Y,,=100 Munsell System Y,,=100
s [max (fn) chromatic value?], [max (m) chromatic valus?], C=2,V=1,2,5,8&9, P50 C=2,V=1,2,5,8&9, P50 T-10
£ chromaticity diagram (as, bs) chromaticity diagram (ag, Py chroma (A*s, B*g) chroma (A*g, B*g)
BE120-7A_3 BE120-8A_3 BE121-7A_3 BE121-8A_3

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;) input: w/rgb/cmyk —> rgb

-6




Y BWgR~/St"09'6vT 0ST//-dNy 40 8p-ul|&8g-n) I|'80e)//-dnyuoirewulolul [ed1uyda)

Ny’ 11'9qey//:dnysey rejiwis aas

N LHZT34d/ZTadmp ulle]-

V L o Y
http://farbe.li.tu-berlin.de/BE12/BE12.HTMONP.PDF /.PS
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/8

2525

For any colour, Yy=100, P45

M.,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0 0,8

1,6 agxly

525Mm|-m575 600

20Tv)=s,

MA=S)
-0,8 e
AR -1,6
9495¢,E
>
8
CIE 1931 X s
= 1
Ji
0,0 0,2 0,4 0,6 0,8 1,0 £ chromaticity diagram (ag, bg)
BE120-1A_4 BE120-2A_4
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
M Parame:
525 M575 600 625 700 ter Y
0y = 495cE Parame 0,07y, =5, 522Mm Lm,
= g AT2N 575
K 58 Re ter: Y 50 8PPl 625 700
M)ES) P45 500c,E M\=Sh49
-0,8 -0,8
3 510c,E
525¢,E =
-16 3
o
2
> &
<8r T By Smf| TS 550c,E 4
o For any colour, Yy=100, P45 & For any colour, Yy=100, P45
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE120-3A_4 BE120-4A_4
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
o s2Mm MESQOCE Parame 0.9 =Sp2MmLmszs 6000, 625 Parame
V=S, ! ter: Y M)=[5)80 L ter: Y
M 510c,E 49 P45 Re Lsooce
—O,é SERE(E -0,8 510c,E
A 525¢,E
= 550¢,E =
§ C g /. 550c,E
© 4 (32}
S e Bem/ | Ts
£ £
N &
~ o
o -
? & For any colour, Yyy=100, P45 <|=a7 For anly colour, Yy=100, P45
s [max () chromatic value?], e [max (fm) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE120-5A_4 BE120-6A_4
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
o0 o0 Parame:
625 625 1§ ter: Y
0,0 75 600 P - C.E
V. Re Lsooce te?-ri(me 500c,E
P45 510¢,E 510c,E
_'glé 525¢,E 525¢,E
= 550¢,E
=]
8 4
(=)
¥
5 s
le For any colour, Y\y=100, P45 For any colour, Yw=10%, P45
s [max (fn) chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE120-7A_4

BE120-8A_4

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;)

oS 520 525 Munsell System Y,=100 X=99,20.,Y,,~100,00,2,,=76,07 B0
0.8 177 M C=2 V=1,2,588&9, P45 %y=0,3603y,,~=0,3632 10
510 rgstohe chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y]
by = byo [2/4]
ay=1, byp=-0,4 A,
+ t t »-
n = P45 -10 10
5
CIE 1931 X Munsell System Yy,=100
C=2,V=1,2,5,8&9, P45 -10
0,4 0,6 0,8 1,0 chroma (A*q, B*o)
BEL21-1A 4 BE121-2A_4
X4=99,20,Y,,100,007,=76,07 B, X4=99,20,Y,,100,002,~76,07 B,
Xy=0,3603y,,=0,3632 X0 Xy=0,3603y,,=0,3632 +10
Ar=(@;-a1y) Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yls)]';?’
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay = apo [(x=0,17D/y] + 2y =ay [(x-0,179H] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
a,0=1, byp=-0,4 A a,0= 1, byp=-0,4 A
myp;=1,000,bp;=0,171 , N I Mp;=-0,169,0,=0,389 2
n=P45 _10 ) 10 n=P45 ~10 10
P45 45
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P45 T-10 C=2,Vv=1,2,5,8&9, P45 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE121-3A_4 BE121-4A_4
X4=99,20,Y,,100,007,=76,07 B, X4=99,20,Y,,100,002,=76,07 B,
Xy=0,3603y,,=0,3632 +10 Xy=0,3603y,,=0,3632 +10
A3=(ag-agy) Yig (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Ym)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag = a5 [(x-0,171/y] 1 ay = a0 [(x-0,17)/y] 1
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ay0=1, byy=-0,4 a0= 1, byo=—0,4 A
Mpy=-0,974 b;=0,658 , L~ 3 Mp;=-0,169,0,=0,389 4
n=P45 _10 ) 10 n=P45 ~10 7 10
P45 P45
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P45 T-10 C=2,V=1,2,5,8&9, P45 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE121-5A_4 BE121-6A_4
X4=99,20,Y,,100,007,=76,07 B, X4=99,20,Y,,100,002,=76,07 B,
Xy=0,3603y,,=0,3632 X 10 Xy=0,3603y,,=0,3632 +10
As=(a5-asy) Yig (Y/Ym)ig Ag = (g ~agn) Y15 (Y/ Ym)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 = apo [(x=0,17D/y] + 85 = ago [X/y] T
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 ay=1, byp=-0,4 A
Mpy=-0,974 b,=0,658 , L~ 25 Mp1=-0,974,b,=0,658 6
n = P45 —10 ' 10 n=P45 10
P45
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P45 T-10 C=2,V=1,2,5,8&9, P45

chroma (A*s, B*g)

chroma (A*g, B*¢)

BE121-7A_4

BE121-8A 4

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, P40
M,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

0525

-0,8 0,0

08 1,6 agxly

20Tv)=s,

525Mm|-m575 600

My=S)
-0,8 -
-1,6
>
8
CIE 1931 X s
o T
0,0 0,2 04 06 08 1,0 5
BE120-1A_5 BE120-2A_5
-08 0,0 08 1,6 a=(x-0,171)y -08 00 0,8 1,6 a=xly

Parame:
sosMmlms7s e00. 625 700 ter: Y
0\9 - 495¢ E Parame. 0,0 VA=S)\ 52Mm Limszs
ter: Y 50
M= 500c,E A=S\ag
-0,8 -0,8
510¢,E
525¢,E =
-16 2
(3]
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P40 & For any colour, Yy=100, P40
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE120-3A_5 BE120-4A 5
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
00 s2gm e Parame 0.9 =Sr2MmLmszs 500, Parame
V=S © ter: Y M)=[5)80 52 L ter: Y
” 510¢,E 49 P40 Re Leooce
—O,é SERE(E -0,8 510c,E
525¢,E
4
% 550c,E % 550c,E
g 8 |7 Ban/ |Ts
o o
T T
N -]
~ ©
o =1
? & For any colour, Yyy=100, P40 <|=a7 For anly colour, Yyy=100, P40
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE120-5A 5 BE120-6A 5
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy

0,0
V,

o

Parame:
ter: Y

=

@

3 4

(=)

<

¥

5

Cf For any colour, Y\4=100, P40 For any colour, Yy=108, P40
s [max (fn) chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE120-7A_5

BE120-8A_5

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;)

520 Munsell System Y,=100

515 1 525
M

C=2,V=1,2,5,8&9, P40
mirgstohe chromaticity diagram (x, y)

X,~100,93Y,,~100,00Z,=64,68 B,
xw=0,3799,,=0,3764 10
Ao = (8o~ ag,r) Y1g (YY1 13

Bo = (oo~ bo,0) Y1s (Y/Y191/3

ag = ag [X/Y]

bg = byo [/

=1, byp=-04

n=P40 -10 10

CIE 1931 X Munsell System Yy,=100
C=2,V=1,2,5,8&9, P40 -10
0,4 0,6 0,8 1,0 chroma (A*g, B*))
BE121-1A 5 BEL21-2A 5
X,=100,93,,~100,007,64,68 B, X,=100,93,,~100,007,=64,68 B,
Xy=0,3799y,,=0,3764 X0 Xy=0,3799y,,=0,3764 10
A= (ay —ay ) Yag (VY1913 Ap = (8p ) Yag (VY193
By = by~ by ) Yig (/Y1913 B2 = (0~ by ) Yag (Y/Y191/3
ay = apo [(x=0,17D/y] + 2y =ay [(x-0,179H]
by = by [2/4] b=z [(Mp1x+bpy)/y]
ay=1, byy=-04 A ay=1, byp=-04 A
myp;=1,000,bp;=0,171 , I Mp;=-0,169,0,=0,389 2
n = P40 ~10 ) 10 n = P40 10
P40
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,Vv=1,2,5,8&9, P40
chroma (A*,, B*;) chroma (A*,, B*))
BE121-3A 5 BEL21-4A 5
X,=100,93,,~100,007,64,68 B, X,=100,93Y,,~100,007,~64,68 B,
Xy=0,3799y,,=0,3764 +10 Xy=0,3799y,,=0,3764 +10
Ag= (a3~ ag,) Yig (Y/Y19 13 Ay = (8g ~ ag) Yag (YY1 3
By = (bg ~ ba ) Yig (Y/Y19 /3 B4 = (g ~ by ) Yag (Y/Y191/3
ag = ay0 [(x-0,17D/y] 1 ay =ayo [(x-0,171)/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a50= 1, byg= -0,4 a50= 1, byg=-0,4 A
Mpy=-0,974 b;=0,658 , 3 Mp;=-0,169,0,=0,389 4
n = P40 —10 ' ) 10 n = P40 -10 @ ? 10
P40 P40
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,Vv=1,2,5,8&9, P40 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE121-5A 5 BEL21-6A 5
X,=100,93Y,,~100,007,64,68 B, X,=100,93,,~100,007,=64,68 B,
Xy=0,3799y,,=0,3764 X 10 Xy=0,3799y,,=0,3764 10
As = (a5~ a5 ) Yag (Y/Y191/3 Ag = (@5 = 8g) Y15 (Y/V191/3
Bs = (b5 ~ bs ) Y1g (Y/Y19 /3 Be = (5 ~ bg ) Yag (V/Y191/3
a5 = apo [(x=0,17D/y] + ag = ao [x/y]
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
mp;=-0,974,by,=0,658 n g mp;=—0,974,bp,=0,658 n n 6
n=P40 —10 ' ) 10 n = P40 —10 ' ' 10
P40 40
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,V=1,2,5,8&9, P40 -10

chroma (A*s, B*g)

chroma (A*g, B*¢)

BE121-7A_5

input: w/rgb/cmyk —> rgb

BE121-8A_5

__n
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For any colour, Yy=100, P35 _ =X/ 520 Munsell System Y,=100 Xy=103,66,Y,,=99,99,2,,=52,43 B
Iy a sst [max (m) chromatic value?], 08 0,0 0.8 1,6 8o=xy 0.8515 a525 nC=2.V=1,2,5,84 9, P35 thv:0v4047yw:0’3904 w 0“10
o % c5r15roomat|<:|ty diagram (x, y) 5 |rgst0he chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y/Y18)1/3
Qo ; 00Tvy=s, WV Bo= (b = bo,) Y1s (Y1912
> 500% a9 = ago [x/y] +
3.0 My=S) bo =50 (2]
-0,8 & ayp=1, byy=-0,4
) 3 P 20 20 A,
Q= j j >
- n=P35 -10 0
=2 Q625
32 s
— 9495¢,E
=¥ -
n 8
g g CIE 1931 X i CIE 1931 X Munsell System Yiy=100
== i C=2,V=1,2,5,88&9, P35 T-10
aﬁ 0,6 0,8 1,0 = 0,6 08 1,0 chroma (A*g, B*))
S [y BE120-1A_6 BE120-2A_6 BE121-1A_6 BE121-2A_6
~~ — — — — — —
5= 08 00 08 16 a=(x-0171)y 08 00 08 16 axly X,=103,66,Y,,799,99.2,752,43 B, X=103,66)Y,,799,99.,752,43 B,
= 2 Parame. Xy=0,4047y,,=0,3904 +10 Xy,=0,4047y,,=0,3904 +10
T o 625 700 M ter: Y A1= (a1 Yig (Y/Yla)lj?' Ar=(@=ayn) Yig (Y/Y18)1;3
=® 00T_ 495¢,E Parame 0.0Tvy =5, 522¥'M Lms7s By = (by — by ) Y1 (Y/Y191/3 Bz = (bp — by ) Y1 (Y/Y19 /3
- = . ter: Y _850 ay = ag [(x—0,17D/y] 1 ay = ay [(x—0,17D/y] 1
Q= My, 500¢, A=Shag by = byg [2M] b=z [(Mp1x+bpy)/y]
oCc -0,8 -0,8 a=1, byy=-0,4 A a0 =1, byp=-0,4 A
D A SLCCE my;=1,000,b13=0,171 \ \ N mMp;=-0,169,bp1=0,389 \ 2
O - f t t b = i t »
= (-‘Q 5250.E = n=P35 -10 10 n=P35 -10 0
e S 1 % P35
Q g <8r T 550c,E 4
—_— Q o For any colour, Yyy=100, P35 & For any colour, Yy=100, P35 Munsell System Y,,=100 Munsell System Y,,=100
5' w ,', [max (m) chromatic value?], S | [max (m) chromatic value?], C=2,V=1,2,5,8&9, P35 T-10 C=2,V=1,2,5,8&9, P35 T-10
= m S chromdticity diagram (ay, by) &' | chromaticity diagram (ay, by) chroma (A*;, B*)) chroma (A*,, B*;)
o [EN BE120-3A_6 BE120-4A_6 BE121-3A_6 BE121-4A_6
@ \S} 08 00 08 16 a=(x-0171) 08 00 08 16 %=(x-0171) Xw=103,66,Y,~99.992,=52,43 B, Xy=103,66.Y,,~99,99.2,=52,43 B,
2 @ Xw=0,4047y,,=0,3904 110 Xw=0,4047y,,=0,3904 +10
=m L 600PL 28 300c . & A3=(ag-agy) Yig (Y/Yla)ig Ag=(ag—2ayp) Yis (Y/Yls)ig
== 00 s2gim e Parame o Parame B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
8 N Vy=S ' ter: Y M= ter: Y ag = ag [(x-0,179/y] 1 ay = ayo [(x-0,17DH] 1
b M S100E bg=bag [(Mpx+Dp)/] by=bao [(Mppx+bpy)/y]
=T 03 5250E -08 a90= 1, byg= ~0,4 A ag0= 1, byp= 0,4 A
B = 4 Mp1=-0,974b,=0.658 , 8 Mp=-0,169b5;=0.389 \s
= 550c,E = n=P35 10 ' ' 10 n=pP35 10 j 10
= < g ¢ 3 P35 P35
= © 4B 5]
N =) =) 1 41
£ £
(] ¥ &
fory 5 z
o C|f47 For any colour, Yy=100, P35 <|=a7 For anyy colour, Yy=100, P35 Munsell System Y,,=100 Munsell System Y,,=100
- s [max () chromatic value?], e [max (m) chromatic value?], C=2,V=1,2,5,8&9, P35 T-10 C=2,V=1,2,5,8&9, P35 T-10
N & chromgticity diagram (ag, ba) o chromaticity diagram (ay, by) chroma (A*3, B*3) chroma (A*y, B*,)
g BE120-5A_6 BE120-6A_6 BE121-5A_6 BE121-6A_6
_Ih 08 00 08 16 8=(x-0171)y 08 00 08 16 2=y X,=103,66,Y,,799,99.2,75243 B, X=103,66)Y,,799,99.,752,43 B,
) EeEE Xw=0,4047y,,=0,3904 110 Xw=0,4047y,,=0,3904 110
625 10 s der Y As = (a5~ a.;) Y1g (Y/Y19)1/3 Ag = (85 ~ ag,r) Y15 (YY1 13
g 00 Parame 00 e Bs = (b5 - bs,0) Y15 (VY1913 B = (o ~ b ) Y15 (/Y1913
3 v; ter: Y V\=S) ' 26 = a0 [(x-0,179h] 1 26 = a0 [XA] 1
Q M YRS T be=bao [(Mpyx+bpr)y] Be=bao [(Mpx-+bpy)/¥]
= 08 -087 A% 525E a50= 1, byo= -0,4 ay0=1, byg=-04 A
x~ mD1:—0,974,bn1=0,6I58 ' ' #5 m01:—0,974,bm=0,6|58 ' ' ,;6
= = n=P35 -10 10 n=P35 -10 Q 0
o ) P35 35
n wn
© 4 o)
o o -+ L
£ £
¥ N
5 >
le For any colour, Y\y=100, P35 Cf For any colour, Yy=1 Munsell System Y,,=100 Munsell System Y,,=100
s [max (fn) chromatic value?], Y | [max (m) chromatic valus], C=2,V=1,2,5,8&9, P35 T-10 C=2,V=1,2,5,8&9, P35 T-10
£ chromaticity diagram (as, bs) & | chromaticity diagram (ag, chroma (A*s, B*g) chroma (A*g, B*g)
BE120-7A_6 BE120-8A_6 BE121-7A_6 BE121-8A_6

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;) input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, P30
M,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

2525

-08 00 0,8 1,6 agxly

525Mm|-m575 600

20Tv)=s,
50
Mr=S)
-0,8 -
-1,6
>
8
CIE 1931 X s
|
06 08 10 &
BE120-1A_7 BE120-2A_7

-08 00 08 1,6 a=(x-0,171)y

Parame:
625 700 ter: Y
o1= 495¢,E Parame 0.0Tv, =S, s2Mm Lme7s
ter: Y 50
My 5000,E A=Shao
-0,8 -0,8
510c,E
525¢,E =
_1 %
o
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P30 & For any colour, Yy=100, P30
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE120-3A_7 BE120-4A_7

-08 00 0,8 1,6 a=xly

-08 00 08 1,6 a=(x-0,171)y

-08 00 0,8 1,6 a=(x-0,171)y

700

0,0 L 80P S22 84050, 0.9 =S 52sMmL

d s2Mm —— Parame: V] =S¢ M575 6005, 605 Parame:

V=S ! ter: Y M)=[5)80 L ter: Y
M Gl (= 49 30 Re Lsooce
—O,é SERE(E -0,8 510c,E

525¢,E
4 C,

= 550¢,E =
@ ¢ > 550¢,E
8 4B & [#® Bem/ | Ts
=) =)
I I
N -]
5 g
Q4 For any colour, Yyy=100, P30 H For any colour, Yy=100, P30
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)

BEL20-5A_7 BE120-6A_7

-08 00 08 16 a=(x-0,171)y

0,0
V,

o

Parame:
ter: Y

For an colour, Y\4=100, P30
[max (fn) chromatic value?],
chromaticity diagram (as, bs)

bs=(~0,974+0,658)}

0,0

V)\:S)\

My=S

-0,8 A%
=
©
wn
©
=)
£
N
~
G
& For any colour, Yy=1
Y | [max (m) chromatic valus],
& | chromaticity diagram (ag,

BE120-7A_7

BE120-8A_7

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;)

oS 520 525 Munsell System Y,=100 X,y=108,04.Y,,=100,00.2,,=39,55 B0
08 Tf Mmp:2, V=1,2,5,8&9, P30 xy=0,4363y,,=0,4038 T10
5 |rgst0he chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
% Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y] 1
by = byo [2/4]
=1, byp=-04 A,
P30 + t t »-
n= -10 10
30
X Munsell System Y,y=100
C=2,Vv=1,2,5,8&9, P30 T-10
1,0 chroma (A*q, B*o)
BEL21-1A_7 BE121-2A_7
X,=108,04Y,,100,007,=3955 B, X,=108,04Y,,100,007,39.55 B,
Xy=0,4363y,,=0,4038 X0 Xy=0,4363y,,=0,4038 +10
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yla)]';a
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay = ag [(x—0,17D/y] 4 ay = ay [(x—0,17D/y] 4
by = by [2/4] b=z [(Mp1x+bpy)/y]
a,0=1, byp=-0,4 a,0= 1, byp=-0,4 A
my;=1,000,b3=0,171 L L N mMp;=-0,169,bp1=0,389 L L 2
n=P30 _1'0 ! ! 1ro n=P30 _io ! ! 1r0
P30 30
Munsell System Y,=10| Munsell System Y,,=100
C=2,Vv=1,2,5,88&9, T-10 C=2,Vv=1,2,5,8&9, P30 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE121-3A_7 BE121-4A_7
X,=108,04Y,,100,007,~3955 B, X,=108,04Y,,100,007,39.55 B,
Xy=0,4363y,,=0,4038 +10 Xy=0,4363y,,=0,4038 +10
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Yls)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
a3 = a0 [(x-0,17D/y] + 2y =ap[(x-0,179H] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a50= 1, byg= -0,4 A a,0= 1, byp=-0,4 A
mp;=-0,974,bH,=0,658 n n NS mp;=—0,169,bp,=0,389 n n N
n=P30 -10 ' ' 10 n= P30 —10 : ' 10
P30 P30
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P30 T-10 C=2,Vv=1,2,5,8&9, P30 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE121-5A_7 BE121-6A_7
X,=108,04Y,,100,007,~3955 B, X,=108,04Y,,100,007,=39.55 B,
Xy=0,4363y,,=0,4038 X 10 Xy=0,4363y,,=0,4038 +10
As=(a5~asp) Y18 (Y/Yla)ig As=(@s~agn) Y18 (Y/Yls)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 = apo [(x=0,17D/y] + 85 = ago [X/y] T
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 ay=1, byp=-0,4 A
mp;=-0,974,bp;=0,658 L L D mp;=-0,974,bp,=0,658 L L N
n= P30 10 ' ' 10 n = P30 10 ' ' 10
P30 30
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, P30 T-10 C=2,Vv=1,2,5,8&9, P30 T-10
chroma (A*s, B*g) chroma (A*g, B*¢)
BEL21-7A_7 BE121-8A_7
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For any colour, Yy=100, P25
M.,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

2525
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1,6 agxly

20Tv)=8,

525M m Lm575

600

MA=S)
-0,8 e
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>
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CIE 1931 X s
5 i [max (m) ghrgmatic value?],
0,0 0,2 0,4 0,6 0,8 1,0 &S chromatici gram (ag, by
BE120-1A_8 BE120-2A_8
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
625 700 ter: Y
o1= 495¢,E Parame 0.0Tv, =S, s2Mm Lme7s
ter: Y 50
My 500c,E A=S\a
-0,8 -0,8
510c,E
525¢,E =
_1 %
o
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P25 & For any colour, Yy=100, P25
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE120-3A_8 BE120-4A_8
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
o s2Mm > Re [sooce Parame: o —stzgmemWS 600 Parame:
V=S o5 © ter: Y M)=[5)60 522 L ter: Y
M 510c,E 49 P25 Re Lsoooe
—O,é SERE(E -0,8 510c,E
525¢ E
4
% 550¢,E % 550¢,E
8 4 & |f*s Bém/ | Ts
g g
3 E g
o -
? & For any colour, Yyy=100, P25 <|=a7 For anyy colour, Yy=100, P25
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE120-5A_8 BE120-6A_8
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
700 700 Ralane
625 625 1§ ter: Y
0,0 5 600 b 5 Q4
v Re 1sooce arame |
25 ter: Y
M 510¢,E 510c,E
_o,é 525¢,E 525¢,E
= 550¢,E
=]
8 4
=
% s
5
le For any colour, Y\y=100, P25 For any colour, Yw=10%, P25
s [max () chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE120-7A_8

BE120-8A_8

TUB-test chart BE12; CIEx, y) and chromaA?*;, B*;)

oS 520 525 Munsell System Y,=100 X\=115,18,Y,,=100,00.2,,26,59 B0
08 Tf Mmp:2, V=1,2,5,8&9, P25 Xy=0,4764y,,=0,4136 T10
5 rgstohe chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y] 1
by = byo [2/4]
ay=1, byp=-0,4 A,
t t t b
n=P25 -1 1
0 ) P25 0
CIE 1931 X Munsell System Yy,=100
i C=2,Vv=1,2,5,8&9, P T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BE121-1A 8 BE121-2A 8
X,=115,18Y,,=100,00Z,~26 59 B, X115 18Y,,=100,00Z,~26,59 B,
*w=0,4764y,=0,4136 10 ¥w=0,4764y,,=0,4136 10
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yla)]';a
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay = apo [(x-0,17D/y] + 2y =ay [(x-0,179H] AL
by = by [2/4] b=z [(Mp1x+bpy)/y]
ay0= 1, byo= -0,4 A ap0= 1, byy=-04 A
my1=1,000,b;=0,171 , ) N mp;=-0,169,bp1=0,389 ) ) 2
n=PpP25 ~10 ) ) 10 n=P25 ~10 ’ ) 10
P25 P25
Munsell System Yyy: Munsell System Y,,=100
C=2,V=1,2,5,8¢& r-10 C=2,Vv=1,2,5,8&9, P25 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE121-3A 8 BE121-4A 8
X,=115,18Y,,=100,00Z,~26 59 B, X115 18 Y,,=100,00Z,~26,59 B,
*w=0,4764y,=0,4136 110 ¥w=0,4764y,,=0,4136 10
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Yls)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag = a9 [(x-0,171/y] + 2y =ap[(x-0,179H] +
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ap0=1, byo= -0.4 A ax=1, b= -04 A
mp;=-0,974,bH,=0,658 n n NS mp;=—0,169,bp,=0,389 n n N
n=P25 -10 ' ' 10 n=P25 —10 i ' 10
P25 P25
Munsell System Y, =T00 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P25 T-10 C=2,Vv=1,2,5,8&9, P25 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE121-5A 8 BE121-6A 8
X,=115,18Y,,=100,00Z,~2659 B, X,=115 18Y,,=100,00Z,~26,59 B,
Xw=0,4764y,=0,4136 110 ¥w=0,4764y,,=0,4136 10
As=(a5~asp) Y18 (Y/Yla)ig As=(@s~agn) Y18 (Y/Yls)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 = apo [(x=0,17D/y] + 85 = ago [X/y] T
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
mMp;=-0,974,b,1=0,658 ) ) D Mp;=-0,974,0,=0,658 ) ) N
n=P25 -10 ' ' 10 n=P25 —10 ' ' 10
P25 P25
Munsell System Y, =100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P25 T-10 C=2,Vv=1,2,5,8&9, P25 T-10
chroma (A*s, B*g) chroma (A*g, B*¢)
BE121-7A 8 BE121-8A 8

input: w/rgb/cmyk —> rgb
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